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QUESTION 1

Which of the following is NEVER affected by incorrect OS time and date configuration? 

A. VPN PSK authentication 

B. VPN certificate authentication 

C. SIC 

D. Identity Awareness Kerberos authentication 

Correct Answer: A 

 

QUESTION 2

What is the log file that shows the keep alive packets during the debug process? 

A. $FWDIR/log/ikev2.xmll 

B. $FWDIR/log/ike.xmll 

C. $FWDIR/log/ike.elg 

D. $FWDIR/log/vpnd.elg 

Correct Answer: C 

 

QUESTION 3

The command that lists the firewall kernel modules on a Security Gateway is: 

A. fw list kernel modules 

B. fw ctl kernel chain 

C. fw ctl debug -m 

D. fw list modules 

Correct Answer: C 

 

QUESTION 4

You are trying to troubleshoot a NAT issue on your network, and you use a kernel debug to verify a connection is
correctly translated to its NAT address. What flags should you use for the kernel debug? 

A. fw ctl debug -m fw + conn drop nat vm xlate xltrc 
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B. fw ctl debug -m fw + conn drop ld 

C. fw ctl debug -m nat + conn drop nat xlate xltrc 

D. fw ctl debug -m nat + conn drop fw xlate xltrc 

Correct Answer: A 

 

QUESTION 5

Your customer reports that the time on the standby cluster member is not correct. After failing over and making it active,
the time is now correct. NTP has been configured on both machines, so it is expected that both machines be in sync
with the NTP server. Upon investigating, it was found that the standby member was never able to communicate with the
NTP server while it was in standby configuration. What could be the problem? 

A. You should be syncing your backup to the primary for time settings. 

B. NTP is not supported in active-passive mode. 

C. Traffic from the standby member was hidden behind the cluster IP address and was therefore returning to the active
member. 

D. Routing prevents the standby member from performing functions such as peering with dynamic routing and obtaining
NTP updates. 

Correct Answer: C 
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